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Questions for Midterm Exams

BYJU'S - Class 9 & 10

Ankita, the teacher of 9th and 10th grade, will be using her phone to
view your chats during class. Tomorrow is the science exam, but all the
best for that! If you can go to Australia, you can write this test now.
This test will give you the opportunity to check your goals and see which
direction you want to pursue your career. The political examination will
give a detailed analysis of your skills and help us pick the subjects
that will help you flourish in life. Besides that, we also have other
important scholarships to choose from. Questions are from Ncert examples
and from our Ncrt textbook. The marks are very easy - nothing to think
about!

All plants give out the oxygen during the day and carbon dioxide during
the night. We know that respiration occurs in plants for sure, and they
just like us, they take the oxygen and they give back the carbon dioxide.
The small intestine is really very important part of our elementary
canal, right and we know that complete digestion as well as complete
absorption of food occurs in the small intestine. The small intestine in
the inner surface has millions of finger-like projections which we call
"villas." Villi have a larger surface area for the absorption and are
surrounded by the blood vessels, so as they will be taking up the
nutrients. The kidney has three important steps first is the glomerular
filtration. The molecules or the nutrient will move easily from

village to the blood vessels because of those small flnger 1lik ‘E;}
projections which are called "willis." The last step of he
urine collection. All these tubules will secrete oqﬁ

In the urine, the blood will not be &Egzét will be the fluid it
has the urea and water rlght not g enough in urine,
basically, very good Ye nltrogen % Very good. No, no

issues. Welcome to I can g:y es up with a thumbs up.
How do leave help in on? First of all, leaves store a

lot o T@ rlal ﬂga enzyme secreted from the gastric
glandsfin®%stomachs that a«t otein is pepsin. The digestion starts in
our mouth itself so of course we have the buccal cavity which have the

different types of teeth we have in scissors can ions premotors and
molars.

We have three important parts of this question talking about the teeth,
salivary glands, and tongue. We are sorted very simple question so again,
when you see the three marks, just break the question or write the answer
in such a way that you're covering all the three points very well. We
need to compare the function of alveoli in the lungs and the nephron's in
the kidneys. Dct is the distal uh convulsive tubules that's the last part
of the tubule right that plays a very important role in the reabsorption
and the secretion of it. And with this, okay I'm sorry I took five
minutes extra of yours but I hope that all of you got the answers right.
I believe that especially during the examination, we should have these
sessions where we should not be explaining much to you because you guys
have mastered it, but we should still need to discuss the answers. Most
important question will be the diagram of the heart, which is really
important aside from that excretory system. But they might ask you and
the nephron and the alveoli that we just saw right with the exchange of
gases.

I'll say goodbye to each of you, and take care of myself. Lots of love to
each one of you, and keep on learning. I'll say bye bye, and foreign.
Just share the PDF on that's not everyone. I'll say bye bye.



BYJU'S Unit Test for Boards: Life Processes Vs Chemical Reactions and
Equations Class 10 Menti Quiz

BYJU'S - Class 9 & 10

Unit test league is for grade 10. Chemistry versus Biology 1is a very
important chapter for the tenth standard and both the chapters are
equally important. We will be competing, but we know that we want all of
you to get full marks like reading the chemistry or bio so we want you to
have you know answer all the questions correctly. The bendy.com host a
quiz quiz to try to get the answers right. There are 16 gquestions
including 8 biology questions and 8 chemistry questions and you have to
answer quickly and correctly. Vishnu sir we will request her to come, but
it so kojie saying is not able to join Telegram Kushi. 130 students have
joined 130 students and we do not want them to wait so we'll wait for 30
seconds max and then we'll start. Just pick up the one which is not true
and yes then you arrive at the correct answer. I think very basic options
are there.

Only 58 of you have figured out the answer to question number two from
Bio. Ammonia nitrogen combining with hydrogen to give you ammonia is a
chemical change that is happening, but it is reversible. This is the
easiest one that I keep telling you. Charging and discharging of
batteries is reversible. No blood will flow from heart to lungs if
pulmonary artery is blocked in a patient suffering from heart heart
diseases or elements. Vyan should have seen that you are spamming, but
yeah we will have classes like this, which is also a Bio class a
Chemistry class. I would request that you do not spam, and que ngéé
number three on your screen here we go. All right, 1den izing
and reducing agent respectively in the given reactﬂﬁqaa e got copper
oxide plus hydrogen giving you Cu plus H2 Bich law is
followed while balancing a chemlcal e %EB 1s law, or a simple
question. Question: which law i w 1le 01ng a chemical
equation? It is law, or m conserva 1 ss.

This round wayxrve hemistr ry large margin. Music laughter
Here QEE e leader <§3 ne so we have fastest we have aksho
then héve pushbukharl they just be so good everyone keep on
checking your rank keep on focu51ng on the concept that we are teaching.
The little bonnie is asking how to join up quickly go to www. mentee. com
and use the code 291405 on it. I can see a lot of kids are joining us
now. Quickly need to go and revise reactivity series because that's that
concept's like the base of displacement reaction that's the heart of the
displacement reaction so i hope now you've understood where you've made a
mistake but ktl is a good number. The correct answer was option c that
means oxidation and combination ¢ corrosion of iron is nothing but
rusting of iron right. In resting what is happening you've got some iron
object it's combining with oxygen it's combining with moisture that's hZ2o
and it's forming grass that is fe203 dot xh2.

We want energy, please just show your energy and give us a thumbs up.
Last questions like from 11 to 16 we have limited questions quickly show
up the Josh. Just have smileys or thumbs up so how many kids are there at
this point of time and we have 135 135 so I am setting a bare minimum of
90 kids. Nine tickets. Carbohydrates, protein, lipids or minerals are
carried by lymph after it is digested and absorbed. What lymph will be
carrying after complete digestion and complete absorption of the nutrient
is the following nutrient. While diluting an acid, why is it recommended
that the acid should be added to water and not water to acid? Dental
calories dental calories dental plague tooth decay or toot pulp focus on
stickiness that we have on our teeth what we call it as again it's a very
trickier question is it that I am finding this question difficult or is



Light Reflection and Refraction Vs Life Processes Class 10 Science |
BYJU'S Unit Test for Class 10

BYJU'S - Class 9 & 10

The unit test leak continues. The number of kids are really very less as
of now. I think yeah they have back to back classes so we'll give you a
time. I ram say right ask your friends go and drink water and come back
really very quickly. Then of course we'll start the quiz. You can explore
what is two teacher advantage, what is one to one live sessions, and you
also have a chance to just schedule your own classes at your own time
that's the best thing I feel like about time every mill right. I want a
class there you go live class at that time. Okay go ahead try it out if
you have not done it already go ahead. The quiz is a science thing, it's
not versus, but still we'll just enjoy the versus thing also in between.
Let's go first question and how many questions we have 16 yes. The
moderators are now very strict with the answering between the timer thing
and they're also laughing.

Cover photosynthesis: We will see the droplets cool. All that things:
It's tomato and everything. Ah, very good: I like showing off sometimes.
Same kind of result: I want in physics. Question is calculation based.
The correct answer is d. 47 of you voted 70 of you have answered i am
happy with this but i need more of the correct answer. Yes it will be
like guys what is this laughter yeah sorry till next question of physics
again. Be ready with the pen and notebook maybe you might use it. All
right just now join.

There is nothing to wow about yeah, I learned it. You re A%Wlll
just put a wrong answer right, got everybody got screen,
screen was the first clue. Matlab. Last of you answer
correctly? Anybody remembers the namge Ig:i%i number kidnap? How many
people were? The correct answer lcati e know that bile salt
will be acting on it rlg 1 1flcatlon SSP ng in the liver and
stored in the gallb from t e acting on the fats

molecule bre N t

upon Y allerboar d live process starts. We had the
indivig) quiz last wee rocess 1s completed all right we have sdt
you are the fastest, very good aadersh satwik is on top then we have
satwik they just be goldie uh sdt.

o a smas o that the lipase enzyme can act

Mentee.com on mendy.com has a quiz where the code 785 will take you to
the quiz, Charlie is the fastest, Satwika is on top, we have Adarsh
Tejaswi Vashnevi, Johnny Charvi Dimple, and Charvi Saroj. The important
thing is to test how well the students know about lymph node nephron and
matrix and the blue pieces will not be there. These are the things that
they should focus on. The light ray will fall normally on top of a
rectangular glass slab, and the angle of emergence will be 80 degrees.
Which of the following does not aid in transport of water in plants? None
of these do.

The nature of the image of an object produced by a diverging lens will be
easier to understand if you just read the options carefully. The question
comes later, or something like that. I told you in this session itself. A
concave lens produces an image of height 2 centimeters of an object of
height 6 centimeters placed at 30 centimeters in front of the lens. The
only mistake I can think of is that you might do hmm come on no not
possible angle of vision angles of vision. Transpiration, guttation,
photosynthesis, and respiration are all processes which are not plant
excretory processes. We had a session about this earlier, so hopefully
you have watched it. However, I know that you might get confused so maybe



the options I might think later about this question would be better. I
think yeah, but that's thank God.

Congratulations to the final four contestants on today's leaderboard: Ah-
Oh it's okay, it would not be fair, because you're a senior right, oh
very good. Next, we have Tejaswe Vaishnavi Arush Goldie Anu, you were the
fastest. Rohan Nasira Satyak and Pushkarani finished in second and third
place, respectively.



about Dialysis and the different ways it can be used to treat kidney
failure. Dialysis is a very important treatment, and I'm glad that we
learned more about it in this session. I hope you've enjoyed it!



